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COMPUTER PROFICIENCY AND PROFICIENCY IN GENERAL IT SKILLS

AND NETWORKING
Section Id : 2549897004
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Question Number : 1 Question Id : 2549896396 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

forelt Ty, iR 1 Isd &1 U& BicT aTds Heaur 9 & 9 &1 deardl 82
Options :

1. % Sy

2. % SRR

3. % BB IR

4. DA

Question Number : 1 Question Id : 2549896396 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a small graphical representation of a program, feature or file?
Options :

1. # Desktop

2. # Driver

3. # Screensaver

4. % Icon

Question Number : 2 Question Id : 2549897786 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THRR P& & e # g A A S Fr vy T 82

Options :

1. # SMUR H1. S U Wt dR § FIeT SUa 7e $161s & aRe &t fear Srar g |
2. % YRR $1-91S Had SWhed HHeR & UeRid gid g

3. # Gboard ATIHINIUC GRT §TIT T Uh TR H1-81S §

4. % YRR F-IE F 31eR R favm fg T A &

Question Number : 2 Question Id : 2549897786 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following statements with reference to virtual keyboard is true?
Options :
1. % A virtual keyboard is a software that is used to emulate a standard keyboard.
2. # Virtual keyboards are featured only in desktop computers.
3. ¥ Gboard is a virtual keyboard developed by Microsoft.

4. # Virtual keyboards do not include letters and punctuation symbols.

Question Number : 3 Question Id : 2549898405 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel & B 91 (e I A1ed F ST figait & guf fame o1 aivga 2ar g2
Options :

1. % ABSDEV haRH

2. % DEVABS BhaRH

3. % AVEDEV HhaR[H

4. % ADEVS haRH

Question Number : 3 Question Id : 2549898405 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following functions returns the average of the absolute deviations of data points from their mean in MS-Excel?
Options :

1. % ABSDEYV function

2. % DEVABS function

3. % AVEDEYV function

4. # ADEVS function

Question Number : 4 Question Id : 2549899141 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you are using a Linux Operating System, which of the following symbol represents the top-level directory in the operating
system?

Options :

1. ® ~

2. % @

3R #

4.9/

Question Number : 4 Question Id : 2549899141 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e 3y ey SR Rieew &1 IugiT o 33 &, Al Fafifad & @ &1 1 Ui (symbol) STRIET Rier § il
R o1 ufaffa #xar g2

Options :

1. % ~

2. % @

3.8 #

4.9/

Question Number : 5 Question Id : 25498911736 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ugalt Uil & huger e 1 O forg dab-ile R smemid 39
Options :

1. # ¢ifoRex

2.« dFH Tgd

3. # ENICT Afhe

4. % HEHIGREMR

Question Number : 5 Question Id : 25498911736 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

First generation computers are based on which of the following technologies?
Options :

1. # Transistor

2. % Vacuum tube

3. # Integrated circuit

4. # Microprocessor

Question Number : 6 Question Id : 25498911762 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fufeRad & @ o9 31 TR g= &0 3 SRR, U7, de &1 fafafer, gy, wiernr ok e & ghad Srig-ie S
SR T & g ST fpa wiren &2

Options :

1. # UoicRM

2.+ TS YRR

3. % gegiie

4, % STEY

Question Number : 6 Question Id : 25498911762 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a program used mainly for creating documents such as brochures, letters, learning activities, quizzes,
tests and students’ homework assignments?

Options :

1. # Presentation

2. % Word processor
3. # Spreadsheet

4. # Database

Question Number : 7 Question Id : 25498923895 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e & @ B A HI e gRTawEh R Frafed & o 82
Options :

1.« FRIHT TS

2. ® HHH-IRIY HIST

3. % I TG U

4. % SR YT
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Question Number : 7 Question Id : 25498923895 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following languages is understood and executed by a computer?
Options :

1. % Machine language

2. # Middle-level language

3. # High-level language

4. % Assembly language

Question Number : 8 Question Id : 25498929727 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I RIS BT Pt AT 81 8IdT § A 3o dlecsl deU 81dT § 31R 38 I Jfehe WR 18] fee UdH AARY
I A 3ferT ¥ SR fosan o g 3|

Options :

1. ¥ Tmed $8 3f-e A

2. % TG U IS S FHRT

3.« faggd ¥ ¥ 309 Ted I8 3= AR
4. % TR AERY

Question Number : 8 Question Id : 25498929727 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

does NOT require ultraviolet light but higher voltage, which can be applied to each memory cell separately instead of
whole circuit.

Options :

1. # Programmable Read Only Memory

2. # Erasable Programmable Read Only Memory

3. % Electrically Erasable Programmable Read Only Memory
4. # Flash memory

Question Number : 9 Question Id : 25498929891 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IRIS 1 3w He 1 deb [$fSre et oirell 3 | U f3foie ot a1 &t oife &l 82
Options :

1. % % IRPIs Qe g a1 et

2.« & IR&IS TEY &1 A W6 foan e B ar e

3. % 5 SRPIS Muitg § a1 78k

4. % % IRPIS TN g3 & 1 Tt

Question Number : 9 Question Id : 25498929891 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The last digit in a barcode is called a check digit. This digit helps the scanner know if the barcode:
Options :

1. # is secure or not

2. % was scanned correctly or not

3. # is confidential or not
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4. # was modified or not

Question Number : 10 Question Id : 25498929973 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e Witk U U fafd § forads aed foedt sufda 3/t BT TP T gl daR T ofrar g arfe s
IR DI Y forar o g |

Options :

1. « SRAACH faRIwaraff

2. % UgIH YHIUGH

3. # 3YR HTS

4, % T HTS

Question Number : 10 Question Id : 25498929973 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Biometric spoofing is a method by which a counterfeit mould emulates of an individual to confuse the biometric scanner.
Options :

1. % biometric attributes

2. # an identity card

3. * an Aadhaar card

4. ® a PAN card

Question Number : 11 Question Id : 25498931264 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(A/An) USB port is used to connect like cameras and scanners to a computer.
Options :

1. % peripherals

2. # gystem softwares

3. *# bottlenecks

4. # application softwares

Question Number : 11 Question Id : 25498931264 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(A/An) USB UIE &1 IGINT S IR SR TR P! YR Y FaE B & forg foban S g
Options :

1.« dlgl IS (peripherals)

2. # Y%y YloeaR (system softwares)

3. % qryre (bottlenecks)

4, & WW (application softwares)

Question Number : 12 Question Id : 25498931328 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

O B TIRT $13d H W1 &vd &, al PR & =0 T 3HPH! UgdH Hal g
Options :

1. # &% S13d
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2. % UIE AR
3. % 38 el 7aRd
4. % HY AR

Question Number : 12 Question Id : 25498931328 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When we plug in a flash drive, the computer recognises it as:
Options :

1. % a disk drive

2. # primary memory

3. # read only memory

4. # cache memory

Question Number : 13 Question Id : 25498933053 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B caaic [ o 1 § f 1 &Irelt &2
Options :

1. # BT ¢Fae

2. # b

3. % gHUs

4. % YSUTH

Question Number : 13 Question Id : 25498933053 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A graphic tablet is also known as:
Options :

1. % a drawing tablet

2. # apuck

3. # abook-pad

4. ® apantograph

Question Number : 14 Question Id : 25498933180 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 Iy o1 9o Fifore foraw o a15e so1sdl 1 SiRIg! vH # gafyd fear g |

Options :

1.« TIET3e, TeTse, RIaIge, Ucrarse
2. & TS, HTERC, UeTdage, cRIaIse
3. ® WIEIgC, Uelarse, MheTse, RIaRe
4. % TfTETSe, WS e, SRIEIRC, UTTaTse

Question Number : 14 Question Id : 25498933180 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that arranges the given byte units in ascending order of size.
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Gigabyte, Megabyte, Petabyte and Terabyte
Options :

1. % Megabyte, Gigabyte, Terabyte, Petabyte
2. # Gigabyte, Megabyte, Petabyte, Terabyte
3. # Megabyte, Petabyte, Gigabyte, Terabyte
4. # Gigabyte, Megabyte, Terabyte, Petabyte

Question Number : 15 Question Id : 25498933935 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIR Bt 1/0 Fearsdl & de #, s[ivd fadwed &1 7 Sifor|
Options :

1. % HlaS

2. DR W

3. ® HI3Y

4. # SIIREH

Question Number : 15 Question Id : 25498933935 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to I/O devices of a computer, select the ODD one out.
Options :

1. # Keyboard

2. % Computer speakers

3. # Mouse

4. # Joystick

Question Number : 16 Question Id : 2549898178 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a way of gaining access to a network by imitating a different IP address.
Options :
1. # Address spoofing
2. # App spoofing
3. % [P spoofing
4. # Email spoofing

Question Number : 16 Question Id : 2549898178 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
, ToreT 1P TS 1 3T (Theh) R [t eadh deb Ugd (TaRiY) U &1 U a1 3 |
Options :
1. % Tg9 bt
2. % YU b
3.+ 1P IgfhTT
4. % SO T

Question Number : 17 Question Id : 2549899472 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which printer is considered to be the workhorse of the office because of its capability to quickly print a large number of
documents?

Options :

1. # Inkjet printer

2. % Laser printer

3. # Dot matrix printer

4. # Chain printer

Question Number : 17 Question Id : 2549899472 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS T H SIS (SIegie) Bl 2 I fife B3 B a1 b SR 5 fiiex ) Brafed &1 adbeld HF ol 82
Options :

1. # $puic fiick

2. ¢ R fiieR

3. % gl Afeay fifer

4. % T iR

Question Number : 18 Question Id : 2549899485 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A multi-function printer acts as:

Options :

1. % a printer, copier, scanner and fax machine
2. # aprinter only

3. ¥ a fax machine and a printer

4. ® ascanner and a printer

Question Number : 18 Question Id : 2549899485 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sg-1 (Fetthaer) fifeR fras T o & e 22
Options :

1. fifex, BIUR, W, T A & &0 H

2. % Had YR b FUH

3. % oy A SR iR & wu H

4. % BRI YR H wuHA

Question Number : 19 Question Id : 2549899595 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A simulated device whose user interface and API resemble that of a printer driver, but which is not connected to a physical
computer printer is called:

Options :

1. # avisual display unit
2. # auniversal serial bus
3. % a virtual printer

4. *® a printer driver
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Question Number : 19 Question Id : 2549899595 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& Rigaics fearsd ot gor ety 3R API T flieR 3aR ¥ fddl Jad 5, A S U Hiftd dwgex ey 9 et
el 8, oI5 1 el 82

Options :

1. % fasgsr f$wt gfe

2. % gHIHd Sad a9

3.+ Tgad fifex

4. # YR IE/R

Question Number : 20 Question Id : 25498910795 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
All printers come with one or more:
Options :

1. # soft fonts

2. # hard fonts

3. # virtual fonts

4. % resident fonts

Question Number : 20 Question Id : 25498910795 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
iR s aefie AT
Options :

1. # G ey

2. % BIS WieH

3. % qgord Wiy

4. ¢ ST Wi<d

Question Number : 21 Question Id : 25498911258 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to the transmission or passage of information or message from a sender through a selected channel to
a receiver, overcoming barriers that affect its pace?

Options :

1. * Printing

2. # Software

3. % Communication
4. # Modulation

Question Number : 21 Question Id : 25498911258 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafea & ¥ P19-91, e Uve I U6 Tafd 999 & A1ead 3 U RlaR 9 39t 71 &1 Hifad S areft smersif R
BT UTHR a1 I7 Y & TIRUT JT TR B B Yefiid HRal 8?2

Options :

1. % fUfdm

2. ¥ gfeddR
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3. ¢ TR
4. % HIgA

Question Number : 22 Question Id : 25498913404 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to digital audio and video, MPEG stands for:
Options :

1. ¥ Multiple Picture Experts Group

2. # Motion Picture Experts Group

3. % Moving Picture Experts Group

4. # Moving Photographs Experts Group

Question Number : 22 Question Id : 25498913404 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

feforea ofifear ok fifeat & Wed & MPEG &1 Ui &9 1 82

Options :

1. # Multiple Picture Experts Group (H weIe fUdR QOR-N({H q9)

2. # Motion Picture Experts Group (Ih"\"lq iR QER’:{'CI@ q9)

3. % Moving Picture Experts Group (Hﬁ"'[ IECER W )

4. # Moving Photographs Experts Group (ﬂﬁ"T BICIITHR] W‘TC{H 9)

Question Number : 23 Question Id : 25498913467 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In image compression systems, a quantizer refers to which of the following?

Options :

1. *# It transforms the original input data into a form that is more amenable to compression.

2. # The codeword length is fixed, irrespective of the probability of occurrence of quantized symbols.
3. # It assigns a code word, a binary bit-stream, to each symbol at the output of the quantizer.

4. % It generates a limited number of symbols that can be used in the representation of the transformed signal.

Question Number : 23 Question Id : 25498913467 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OO SO Rieed H, HieTIoR (quantizer) AT § 9 ford Tefifa ear g2

Options :

1. % g 4d $7YC 3T Bl U TY U & 95 adT § Sl TUis & fo oifde StRard g1

2. ¥ THETAS YA & 811 Bt UG & FTaS]g, HIsds i aaTs HYd |

3. H u%’ﬁ?r‘s‘m(quantizer)$WWWWﬁWWW,WMW-WWW%l
4. « g YT TRe B Udien! o1 IUF Sl § IorehT SN FUiaid Jabvd & feuur & far o wehdT |

Question Number : 24 Question Id : 25498918485 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Windows, with reference to default printer settings, when printing multiple copies, which of the following tabs of printer
properties enables you to set the order of pages and whether to staple the pages, staple position, etc.?

Options :
1. # Page Setup

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action 11/41
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2. % Finishing
3. # Page Source
4. # Quality

Question Number : 24 Question Id : 25498918485 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fISIor , fewiee filex Afewg & el o, &3 ufaal &1 file Hra gry, fHfer wiudf &1 9 & Q HH-91 29 3mus! gyt &1 5 H
fuffed B o 9uT gEl & Rud o531 8 o1 T8 g8 FuRor /g, Wua fRufa, onfe & ey s=mar g2

Options :

1. % U9 Yea™ (Page setup)

2. « TR (Finishing)

3. & aﬁﬂ:ﬁﬁ(Page source)

4. # WIFICT (Quality)

Question Number : 25 Question Id : 25498918577 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to the internet, what does IP stand for?
Options :

1. # Internet Product

2. *# Internet Procedure

3. % Internet Protocol

4. # Internet Path

Question Number : 25 Question Id : 25498918577 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e b G |, 1p BT QU SU R B2
Options :

1. ¥ Internet Product (s'afl‘cf m)

2. *# Internet Procedure (3??% @l?ﬁ\_ﬂ?)
3. % Internet Protocol (g?ﬁ_cr m)
4. # Internet Path (g?@_c' 1Y)

Question Number : 26 Question Id : 25498920743 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following acts as an intermediary between a client and a server and is often used to isolate either the clients or servers
for security purposes?

Options :

1. # Switch
2. # Router
3. *# Firewall

4, % Proxy server

Question Number : 26 Question Id : 25498920743 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafofed 3§ § ®1F-91, FaEe 3R TaR & did A & U & B Hal 8 3R SR JRET I & o Famse a1 qaR &
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3T A o FeTT ITANT Tt Srett 82
Options :

1. % g

2. #RI3IXR

3. % hRRAld

4. Ui TR

Question Number : 27 Question Id : 25498922034 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a computer that hosts a website on the Internet?
Options :

1. % Web Server

2. % Web Page

3. # Secarch Engine

4. # Web browser

Question Number : 27 Question Id : 25498922034 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafoad § -9 U6 $geR § S S IR U dad13e 61 gRE HRdl 82
Options :

1. # 39 R
2. % q§ U9
3. % g o
4. % 99 TSR

Question Number : 28 Question Id : 25498924177 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a FAT 32 file system you CANNOT create .
Options :

1. # a partition larger than 16 GB

2. ¥ a partition larger than 8 GB

3. # apartition larger than 4 GB

4. % a partition larger than 32 GB

Question Number : 28 Question Id : 25498924177 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FAT 32 WISdl RIeH H {10 1 751 -1 hd 62
Options :

1. # 16 GB ¥ 93T fdUTSH (partition)

2. % 8 GB Y §81 faUISH (partition)

3. % 4GBV qd3l IERISE (partition)

4. % 32 GB ¥ 93T fAUTSH (partition)

Question Number : 29 Question Id : 25498925405 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Machine language is also known as
Options :
1. # High level language
2. % Low level language
3. ¥ Object oriented language

4. ® Assembly language

Question Number : 29 Question Id : 25498925405 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR HTST I & EUH f IS g
Options :

1. # I TR HIWT

2. 5 Tl v

3. % 3ffeviae 3RUES HIST

4. % T HTNT

Question Number : 30 Question Id : 25498925447 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following guided data transmission media uses the concept of reflection of light through a core made up of glass or
plastic?

Options :

1. # Shielded Twisted Pair Cable

2. # Coaxial Cable

3. %" Optical Fibre Cable

4. # Unshielded Twisted Pair Cable

Question Number : 30 Question Id : 25498925447 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafiea # 9 o1 TS Ser iR AregH (fsan), i a1 @i ¥ 89 SR & J1eaH J YhTel & WRIaa & Rigid
T TR Rl 82

Options :

1. % ReSs fgds TR e

2. % PIUfRISE had

3.« 3MfPhd BIIeR bed

4. % ARICSS fgeds U Had

Question Number : 31 Question Id : 2549896762 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tl a9 U o N[ 98 Ueg ST 3MEh 1 ORI fFad HRas fahdl! 3T J9T3e R ST Sff Wbdl §, 1 Hadldl g2
Options :

1. % QrgcxH

2.+ RIS

3. ® B

4. % TfA3Y

Question Number : 31 Question Id : 2549896762 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is a text or an icon that you can click on to get to another website.
Options :
1. # A citation
2. % A hyperlink
3. # A reference

4. #* An alias

Question Number : 32 Question Id : 2549896958 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WWW &1 QURET 3T 82

Options :

1. ¥ 9c8 9% 49 (World Work Web)
2. % g8 b a9 (Wide Work Web)
3. ® gI3S 90 99 (Wide World Web)
4. ¥ TCS AIZS A (World Wide Web)

Question Number : 32 Question Id : 2549896958 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WWW stands for:

Options :

1. #* World Work Web

2. % Wide Work Web

3. # Wide World Web

4. % World Wide Web

Question Number : 33 Question Id : 2549897206 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS chefeR ool BT & TP IR H R qY &1 Sfaciiep Y Sl 6|
Options :

1. ® fore

2. ¥ TR

3. % QA

4. #% GIRATSH

Question Number : 33 Question Id : 2549897206 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
view in Google Calendar Labs gives a view of the whole year at once.
Options :
1. # List
2. % Year
3. *# Personal

4. # Periodic

Question Number : 34 Question Id : 2549897429 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 & 811 ¢ § FAufaiad & Hislg f6d fadwen &1 Iuaiv o 310 9afd Tare & Tt 3Rl &l 98 sferi
Jedl gobd 82

Options :

1. # CAPITAL

2. # UPPER

3. % ALL CAPS

4. ¥ UPPERCASE

Question Number : 34 Question Id : 2549897429 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By using which of the following options within the Home tab of MS-Word 2019 can you change all selected text into capital
letters?

Options :

1. # CAPITAL

2. # UPPER

3. % ALL CAPS
4. % UPPERCASE

Question Number : 35 Question Id : 2549897930 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT Ao & GRM &1 'CC' TS U iR foadl § | S9! Quied 31 82
Options :

1. # T HIUt (Carbon Copy)

2. % HET DR (Carbon Core)

3. % P B (Carbon Care)

4. % DR BT (Core Copy)

Question Number : 35 Question Id : 2549897930 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

While sending an email there is a feature called 'CC'. What is its full form?
Options :

1. % Carbon Copy

2. # Carbon Core

3. # Carbon Care

4. # Core Copy

Question Number : 36 Question Id : 25498910496 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F3 3-0d Red T Tak I IR Jak W Y Ao & fog IPId BT IUAN B g
Options :

1. % SMTP

2. % ICMP

3. % HTTP

4. % ARP
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Question Number : 36 Question Id : 25498910496 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Many email systems use protocol to send messages from one server to another server.
Options :

1. % SMTP

2. # ICMP

3. % HTTP

4. % ARP

Question Number : 37 Question Id : 25498910535 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SlegHc &1 e Yaiaaic YTk B3 & 1T, MS-Word T 3TUds GRT SIS fobT ST 3§ TR & IR H S f4avur S 1
SHTATID I 8, oI UST BT IR i |

Options :
1. % TIfo
2. BT
3. % d%
4, 9 3{[PR

Question Number : 37 Question Id : 25498910535 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In order to provide the correct preview of a document being printed, MS-Word needs to know some details about the paper you're
using such as the page and orientation.

Options :
1. # margin
2. *# colour
3. # break

4. ¥ gize

Question Number : 38 Question Id : 25498910570 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ul A3 Bl §5¢ P & IR A feU T § | 39 faded &1 99 wiforg foraw 39 =rull o1 9gt 3gepd fear man gl
a) ORTITE &

b) 37T HIR

¢) 3R ¢ & gag

d) Ugell o3 & 3RH H 3

Options :

1.9 Db,a,d, c
2. % b,a, c,d
3. % b,d,a,c
4. % a,b,d, c

Question Number : 38 Question Id : 25498910570 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the option that arranges the given steps to create a first line indent in correct order.

a) at the beginning of the first line
b) place your cursor

c) press the tab key

d) of the paragraph and

Options :

1.%b,a,d, c
2. % b,a,c,d
3. % b,d,a,c
4. # a,b,d, c

Question Number : 39 Question Id : 25498910590 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that arranges the given steps of a sequence to apply an indent in MS-Word 2016 in the correct order.

a) Click on the very bottom of the indent marker
b) Hold the rectangle

c¢) To change the left indent

d) Drag it to a new position

Options :

1.%¢c,a,b,d
2. % b,a,d, c
3. % b,a,c,d
4. % b,d,a,c

Question Number : 39 Question Id : 25498910590 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 H 8¢ I Tg! v H H AN &R & (A 3IehH o QU T aRUN DI AU B ardl [adhed BT 994 D |

a) T8¢ AT & faehd dd IR fadd B
b) 3T P BITS B

¢) U0 $S¢ IR URafdd = & forg

d) 38 T 7 FRUFY (Uehiere) & Sy
Options :

1.9 ¢c,a,b,d

2. % b,a,d,c

3. % b,a,c,d

4. % b,d, a,c

Question Number : 40 Question Id : 25498910619 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 1 AT # ¥ B 91 BTeR T0d I I T g I H Siie P 7T ST foam 9Tl & 3IR I8 dec Bl Th
I H Higd 182

Options :

1.« TS 08 ¥er

2. # TR

3. % BT BRI
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4. % TpHc U cad

Question Number : 40 Question Id : 25498910619 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following features of MS-Excel is used to join the selected cells into one larger cell and centres the content in the new
cell?

Options :

1. % Merge and Center

2. % Wrap text

3. # Conditional formatting

4. # Format as table

Question Number : 41 Question Id : 25498910717 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following commands enables you to make multiple changes in an MS-Word 2010 document at once?
Options :

1. # Drop cap

2. * Find

3. % Replace all

4. # Copy

Question Number : 41 Question Id : 25498910717 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2010 SIFHE T U& Bl IR & $3 IR 95A1d H3- & forg afoiad & § iy sais &1 Sy fasan s a1 g2
Options :

1. % SO PHY

2. ¥ BISS

3. Rl 3ffa

4. % Bl

Question Number : 42 Question Id : 25498911480 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafRad & @ &9 A1 9% §iad fadhed MS-Word 2016 & JfthT fadwed! & w/@ MS 3iifthd TR & acd=il §UR &d & 901 &
3faifd Iuas BiaT 82

Options :

1. ¥ Wb T Weq] DI AW HL

2. % AISRDGY H Xeq| Bl SFGHE DY

3. ® RBY H Ui 3R Vsl Bl ST B3

4. % MIRFY T Yol 3R Wa! BT 3T Y

Question Number : 42 Question Id : 25498911480 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following check box options is avaialble under the catagory "When correcting spelling in MS Office programs',in
proofing options of MS-Word 2016.

Options :
1. % Ignore words in UPPERCASE
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2. # Ignore words in lowercase
3. # Ignore words in UPPERCASE and symbols

4. # Ignore words in lowercase and symbols

Question Number : 43 Question Id : 25498911876 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 §¢ B J 3B MS-Word 2019 Sagie & o T T4 seera T 61 81 g

Options :

1. # ¢H o

2.
3. ® QAT
4

Question Number : 43 Question Id : 25498911876 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Turning off does NOT eliminate the tracked changes that are already present in your MS-Word 2019 document.
Options :

1. % Track changes

2. # Balloons

3. ® Show markup

4. #® Reviewing pane

Question Number : 44 Question Id : 25498912485 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafRad & ¥ D1 I MS-Word 2019 & HeR' &1 T SUGdd TRHTT 82
Options :

|. # Tg Slagic &1 Ue I § U A1l H faars ar g

2. % Ig U [aded ¢ off AT &9 § Juasy 3|

3. + Ug STeRgHc BT T HITT § ot Frara Aol & faars aar g

4. % TE ST 1T U S S aT AR # R AR

Question Number : 44 Question Id : 25498912485 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most appropriate definition of 'a footer' in MS-Word 2019?
Options :

1. # Itis a section of a document that appears in the top margin.

2. *# [t is an option that is available in the Mailings tab.

3. % [t is a section of a document that appears in the bottom margin.

4. # Ttis a section of a document that appears in the left margin.

Question Number : 45 Question Id : 25498913684 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

$eT R i a1 o e U 1 HoalTd o7

Options :
1.« qeUl
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2. % gfgd O
3. % BIS Hidt
4. % T US

Question Number : 45 Question Id : 25498913684 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The electronic pages seen on the internet are known as .
Options :

1. % web pages

2. % printed pages

3. # hard copies

4. # colour pages

Question Number : 46 Question Id : 25498919191 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gﬁ/l%\%/ord 2016, 'mﬂef',Gﬁqﬁaﬁﬁﬁﬁ(merging)ﬁmwaWmm(ﬁmaﬁmw
0

Options :

1. # U

2. % Q

3. ¢ A

4, # IR

Question Number : 46 Question Id : 25498919191 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There is(are) _ option(s) under 'Select Recipients', which is the third step of mail merging of letters in MS-Word 2016.
Options :

1. # one

2. # two

3. % three

4. # four

Question Number : 47 Question Id : 25498923911 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 & THRe &I $efirdh - & fod fordt &1-a1E RiTcdhe o1 ST fasa oirar 82
Options :

1. % Ctrl + 1

2. % Ctrl + B

3. % Ctrl+U

4. % Cul+2Z

Question Number : 47 Question Id : 25498923911 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following keyboard shortcuts is used to make text italic in MS-Word 2019?
Options :
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1. % Ctrl +1
2. % Ctrl+ B
3. % Ctrl+ U
4. % Ctrl+Z

Question Number : 48 Question Id : 25498925300 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS word 2016 T TTSd & & B & [TT 31T WIed A ¥ fbd fadsed & A
Options :

1. # fébe

2. & I

3. % Tfge

4. % fed

Question Number : 48 Question Id : 25498925300 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options of File Menu will you choose to close a file in MS-Word 2016?
Options :

1. # Quit

2. % Close

3. # Exit

4. # Return

Question Number : 49 Question Id : 25498925327 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the decimal equivalent of (10);4?
Options :

1. % 16

2. %2

3.% 1

4. % 160

Question Number : 49 Question Id : 25498925327 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafafaa # 9 (10), BT SR THBE T 82
Options :

1. % 16

2.% 2

3.% 1

4. % 160

Question Number : 50 Question Id : 25498925480 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HIEa! & aui & Teof & Fg o I o1 a1 Aoy et 82
Options :
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1. ® TG US| WISl DI G Uikl Bl 1T A1 I JJ B DI Hafid Hdl 6|
2. ® 3UPH! HIZA & U BN FId YA, 718 BIl! &1 Uh gt 14 8l IHhd g
3. # ol QR wTgdl & ARy Wm0l &1 OF: UTe - | HeE g B
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Question Number : 50 Question Id : 25498925480 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is true with reference to Versioning of files?

Options :

1. # It refers to saving old copies of your files with new names.

2. # When creating new versions of your files, new files can have the same name.
3. # Versioning will not help in retrieving a specific version of older files.

4. % It refers to saving new copies of your file.

Question Number : 51 Question Id : 25498925504 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafafad 7 3 3 4 9afpPs CRe o1 god Iy fRufd &2
Options :

1.+ YR W1 YT 41 A1

2. % AHWH FW

3. % XMW P FW

4. % SIYR WY ST SHWR

Question Number : 51 Question Id : 25498925504 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most common position of subscripted text?
Options :

1. % Slightly below the baseline

2. # Above the mid line

3. # Above the top line

4. % Slightly above the baseline

Question Number : 52 Question Id : 25498933751 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The is comprised of hyperlinks linking trillions of pages and files to one another.
Options :

1. % World Wide Web

2. # Web Server

3. # Internet

4. % WAN

Question Number : 52 Question Id : 25498933751 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T BIETRIH g1 & S WRa] ol 3R Il ! U gk A Sigd g |
Options :
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READING COMPREHENSION
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Section Id : 2549897005
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : |
Sub-Section Id : 2549897046
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921187 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time :

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

A doll
When a little girl cuddles a favourite doll in her arms, she is holding a toy which has been loved by little girls through the centuries.

A doll is a model of a human being, often used as a toy for children. Dolls have traditionally been used in magic and religious
rituals throughout the world. The earliest dolls were made from available materials such as clay, stone, wood, bone, ivory, leather
or wax. Archaeological evidence places dolls as the oldest known toy. Dolls that are thousands of years old have been found in
Egyptian tombs. Some were made of baked clay; others were brightly painted wooden dolls with long hair made of strings of clay
beads. The early Roman and Greek books too make a mention of dolls. In Rome, dolls were made of clay, wood or ivory. Dolls
have been found in the graves of Roman children. Like children today, the younger members of Roman civilisation would dress
their dolls according to the latest trends in fashion. When Greek and Roman girls got married they would dedicate their doll to a
goddess. Rag dolls are traditionally home-made from spare scraps of cloth material. Roman rag dolls have been found dating back
to 300 BC. Every suitable material has gone into doll making. But, from the earliest times, wood has been the favourite material
from which were carved a toy baby or a small figure of a boy, a girl, a man or a woman. Germany has been famous for carved
wooden dolls since the 15th century. In China, dolls were made from papier-maché. In early America, children played with dolls
made of corn husk.

Nowadays, all kinds of dolls are available. There are mechanical dolls that walk and talk. They squeak out the words ‘Pa-pa’ or
‘Ma-ma’ as they walk around the floor with outstretched arms. A very popular doll with girls today is the Barbie doll. It is a model
of a very pretty teenager with a perfect figure and an attractive face. It has blond or dark hair. This doll sometimes comes with
many accessories such as a wardrobe consisting of dresses for her formal wear, swimming, wedding etc.

Sub questions

Question Number : 53 Question Id : 25498921188 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Traditionally, dolls were used throughout the world for:
Options :

1. # little girls to play
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2. # burying with the dead
3. # giving as wedding gifts

4. % magic and religious rituals

Question Number : 54 Question Id : 25498921189 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What did the Roman and Greek girls do to their dolls when they got married?
Options :

1. % They dedicated their dolls to a goddess.

2. # They dressed them up according to the latest trends in fashion.

3. # They buried them in the graves of children.

4. # They gave them away to little girls.

Question Number : 55 Question Id : 25498921190 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What has been the favourite material for making dolls over the years?
Options :

1. # Clay

2. % Wood

3. # Rags

4. ® Wax

Question Number : 56 Question Id : 25498921191 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which country would one have found dolls made of corn husk?
Options :

1. # China

2. # Greece

3. % America

4. ® Egypt

Question Number : 57 Question Id : 25498921192 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true of the dolls?
Options :

1. # Dolls have been loved by little girls for centuries.

2. % The Egyptian dolls had long hair made of wood.

3. % Barbie dolls are very popular with girls today.

4. # Mechanical dolls can walk and talk.

Question Id : 25498921187 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921188 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RIRAT =0 ¥ e forads o giHam 1R & SxadTd & ot o
Options :

1. % BICI Tefhdl & WA & foru|

2. # AP! &b 1Y G & ey

3. % TG & IUGR & ¥ H ¢ & g |

4.+ W1 3R y1ffer SIS & for)

Question Number : 54 Question Id : 25498921189 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT 3R gAY dsforal oa e Rt o a9 98 9= fSar o1 @ vt e
Options :

1.+ 3O ST I U <l &I GG Palt o |

2. % 3% IU-U HYE I HUS H IR Hat o

3. % I I DI Dol H GBI i

4. % Qo & fow BICT asfeal o &t

Question Number : 55 Question Id : 25498921190 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

aul ¥ 71 S & forg ueitar wrl @ 38 82
Options :

1. % firgt

2. ¥ Adel

3. 8T

4. % T

Question Number : 56 Question Id : 25498921191 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® =4

2. #® YA

3. & SARDT

4. % firg

Question Number : 57 Question Id : 25498921192 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e & fore Faffed & 9 &F-91 $3F 94 78l 82
Options :

1. % Wi 4 eIt aeferal gR IS &I udie fra m g
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QUANTITATIVE APTITUDE
Section Id : 2549897006
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897047
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914319 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What value should come in place of the question mark (7} in the following expression?
(4444 + 40) 4 (645 - 25) + (3991 = 26) =1
Options :
1. % 2804
2.9 2904

3. %2054
4. % 2854

Question Number : 58 Question Id : 25498914319 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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(4444 + 40) + (645 + 25} + (3991 = 26) =7
Options :
&% 2304

2.« 2804
3 % 2854

4, % 2854

Question Number : 59 Question Id : 25498928807 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When 30% of one number is subtracted from the second number, the result is four-fifth of the second number. What is the ratio of
the first number to the second number?

Options :
1. % 4
2. ® 3
3.% 2
4. 9 2

W L D

Question Number : 59 Question Id : 25498928807 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e T ¥ 30% T O gl S & ey el &, o Uhem & w0 9 gEe ﬂ'tgu‘m‘r: T BT &1 TEei! e S

ST I ET A A B
Options :

1. w47

)% 3:2

3% 2:56

4. o 2 -3

Question Number : 60 Question Id : 25498928852 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What approximals value should come in place of the quastion mark (7} in the following expression?

("Y'ou are not expected to calculate the exact value.)

Y% of 360 + 12.6% 0f 31/ =7
Options :
1. ® 320
2. %280
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3. % 350
4. % 310

Question Number : 60 Question Id : 25498928852 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

farafafes gea & wed s (7) & T W FEing A F44 @e aiRe? (e 5l A R
TTOTAT SRl AT £

66 T 4% + 317 = 12.6% = ?

Options :

% 320

). % 280
3. % 350

4. ¢ 310

Question Number : 61 Question Id : 25498929094 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The valne of the question mark (7) in the following expression is:
B4 otbdt = 12=7x7¥

Options :

1. % 63

2.9 6.24

3. % 6.34

4. # 6.56

Question Number : 61 Question Id : 25498929094 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ferrafaide BT 7 TEfREs (7) & B ST F HTeT
624 7 284%+ 12 = 7F = 7

Options :
1. % B3

2w B.24
3 % 634

4, % B.56

Question Number : 62 Question Id : 25498929370 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

A single discount equivalent to two successive discounts of 20% and 10% is:

Options :

1. # 30%

2. ®29%

3. % 28%

4. % 27%

Question Number : 62 Question Id : 25498929370 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

# vF rHFA TE 20% HY 10% 1 I FANE gF F =T
Options :
1. % 30%

) w 28%
3w 280

4 % 27%

Question Number : 63 Question Id : 25498929622 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

lf% =p | ﬁ whare p, g and r are positive integers, then the value of (p + 2q + 3r) is:
ri g

Options :

1. ® 7

2. ® 11

3.% 19

4. ® 2]

Question Number : 63 Question Id : 25498929622 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

atE = p 45 Wl p.g o weie QUi & (p + 2q + 3r) AR w0 G

i+
i :é
Options :
L% 7
7 & 11
3.4 19
4 ® 21
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GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549897007
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897048
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 64 Question Id : 25498910059 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following words, which one will come second if they are arranged as per their order in an English dictionary?
Options :

1. % Donation

2. ¥ Donate

3. % Donkey

4. # Donator

Question Number : 64 Question Id : 25498910059 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%r&rrr{a?”&:%aﬂﬁ% e it T3l D) TP AegHIR & STIR qUITehH H afeyd fordr SiTd &, df gaR I IR $1F 91 ek

Options :

1. % Donation
2. # Donate
3. # Donkey

4. # Donator

Question Number : 65 Question Id : 25498914078 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Unscramble the letters in the words given in options, and find the odd one out.
Options :

1. # ATES

2. % EWSN

3. % HONRT

4. % EWTS

Question Number : 65 Question Id : 25498914078 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % ATES
2. % EWSN
3. # HONRT
4, % EWTS

Question Number : 66 Question Id : 25498919666 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third number in the same way as the second number is related to the first number.

14:9::26:7?
Options :
1. #* 12
2.% 13
3.% 15
4. % 3]

Question Number : 66 Question Id : 25498919666 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fade &1 I F% off et T § 31 ST TR Wi § oI gas! e ugalt IReAT § Hafdd g |

14:9::26:7?
Options :
1. #* 12
2. %13
3.9 15
4. % 3]

Question Number : 67 Question Id : 25498919830 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. # Shoulder

2. % Foot

3. # Elbow

4, % Arm

Question Number : 67 Question Id : 25498919830 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A TR e g e & S & <f 2k fopet oo Ueb- I T ATl § e IS U <1 Weg S o 9 e 81 S v
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Options :

1. ® &Y

2. ¥R

3. % DIgAl

ECIS
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Question Number : 68 Question Id : 25498919832 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. % Book

2. # Paper

3. # Pencil

4. # Pen

Question Number : 68 Question Id : 25498919832 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A o e g T & I & <t e ot ot < wep- e T ATt § Qe 1S U <t es S o 9 v 21 S v
(3Ts d-) R T UdTl <MY |

Options :

1. " QIddh

2. # hITSl

3. # URyd

4, B U9

Question Number : 69 Question Id : 25498927369 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the number of inangles m the mven fgure,

g
Wi

Options :
1. % 15
2. % 16
3.9 17
4, ® 18

Question Number : 69 Question Id : 25498927369 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
a1 1 angefet A Bt 9w o Ftfan

Options :
1. # 15
2. % 16
3.9 17
4, % 18
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Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 70 Question Id : 2549895296 Question Type : MCQ Option Shuffling : Yes Display Question Number :

https://g01.tcsion.com/CAE/viewHtmIPDFAction.action

GENERAL AWARENESS

2549897008
5

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549897049
Yes

null

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What does the word 'Aryan' mean?
Options :

1. % The noble one

2. # Cultivator

3. # Pastoral society

4. # Brahmachari

Question Number : 70 Question Id : 2549895296 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ST reg T 3 T B2

Options :

1« el ot

2. # pYD

3. % YTHio HHTS

4. % FEER

Question Number : 71 Question Id : 25498912523 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the product belonging to the organic waste category among the following.

Options :

1. # Old Mobile phone
2. % Straw

3. # Battery

4. # Plastic cups

Question Number : 71 Question Id : 25498912523 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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W3 rufRy aif & Fefera sruly Iae Fe A s arg?
Options :

1. #% A AR BH

2. gaTd

3. ® qad)

4. ® IReH &b HY

Question Number : 72 Question Id : 25498929951 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct?

1) Kaolinite is weathered silicate clay.
2) The kaolinisation process occurs due to hydrothermal alteration of feldspar.

Options :

1. # Only 1

2. ® Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 72 Question Id : 25498929951 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e H o IR HUT I8 8/8?

1. = vt sroeifara Riferbe gar 31
2. PIAIfeFIH (kaolinisation) Ufha1 BeIUR & TS URId- & SR Bidl 8|

Options :

1. % dd |

2. % Had 2

3.9 1 3R 2 3!

4, % 111 SRATE 2

Question Number : 73 Question Id : 25498932104 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the columns:

Persons Woell known as

A Amwita Sher-Gil . Dancer
BE. Bhimsen Joshi 2. Painter
C. Rukmini Devi Arundale | 3. Poet
v, Survakant Tripathi Nirala | 4. Singer

Options :

1. #A-2B-1,C-4,D-3

2% A-2B-4C-1,D-3

3. A-3,B-1,C-4,D-2

4. # A-3,B-4,C-1,D-2

Question Number : 73 Question Id : 25498932104 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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e 1 AR AT

- (i) -1 T F wfee §)
A 3T e 1. 7+
b. WreEse Sl 2. Fraer
C.FRACT 24T e |3 @
I}.Hjﬁil_—r Farat Farer | 4. s

Options :

I.#A-2,B-1,C-4,D-3
2.%A-2,B-4,C-1,D-3
3.%A-3B-1,C-4,D-2
4 # A-3,B-4,C-1,D-2

Question Number : 74 Question Id : 25498935796 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a natural 'mosquito repellent'?
Options :

1. # Lavender Oil

2. % Citronella Oil

3. # Tea Tree Oil

4. # Patchouli Oil

Question Number : 74 Question Id : 25498935796 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

19 & A 1 1 1 UrpTaes TR Ufde e (udie) 82
Options :

1. # ddSR I ad

2.+ RycifFa &1 aa

3. % IS U P ad

4. % TN BT ad

Question Number : 75 Question Id : 25498937113 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Indian cities is called the 'Sugar Bowl of India'?
Options :

1. % Muzaffarnagar

2. # Dhanbad

3. # Balasore

4. # Amravati

Question Number : 75 Question Id : 25498937113 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR & Fufafad & T fog W &l =) &1 HERT H8T SIdl 82
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L. % HOlhIATR
2. # Yddiq

3. % SR

4, % AR
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Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549897009
Section Number : 1
Section type : Typing Test
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Number of Questions : 1
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Section Marks : 0
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
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Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 76 Question Id : 25498941285 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall development of a
child and children have fun during this process as they get to explore new arenas.
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Group Number : 3
Group Id : 2549894448
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

English Typing Test
Section Id : 2549897010
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897051
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 77 Question Id : 25498937914 Question Type : TYPING TEST Display Question Number : Yes
Calculator : None

Plastic has been around for nearly a century finding application across various fields and industries. In fact if we take a
look around us we can find at least one or two items made entirely of plastic. For a short period of time low weight plastic
bags were considered as the most used product in the world. Customers were given these lightweight plastic bags when they
purchased a product from any vendor. They provided a convenient and hygienic way of transporting goods. Moreover since
these bags were extremely cheap to manufacture they were given free of cost to the customers. However the environmental
implications of plastic can be observed now. Lightweight plastic bags were traditionally made of low density poly ethylene
plastic. These plastic items were primarily produced using petroleum or natural gas which is non renewable resources. It
also became increasingly difficult to dispose of as it was not biodegradable. Over time these plastics quickly accumulated in
landfills thereby reducing its efficiency. One of the solutions proposed for resolving this problem is recycling. However it is
not widely implemented especially in India. As stated previously the production of plastic uses non renewable resources like
coal and natural gas. This directly contributes to global warming and an increased carbon footprint. Using non reusable
resources directly contributes to the production of greenhouse gases which can change the dynamics of the planet. In the
long run this can have disastrous consequences on our planet like extreme weather patterns and instability in the
ecosystem. Humans will be drastically affected if the ecosystem becomes unbalanced. There would be widespread shortages
of food which can directly affect an economy. Continued production and usage of plastic will only worsen the situation. The
biggest problem of plastics was its inability to decompose. Currently charges and bans are the two solutions to curb the
usage of plastic. Charges ensure that the cost of the plastic bag is to be borne by the consumers. This not only discourages
the use of plastic bags but also generates an additional source of income. The ban method outright bans the use of plastic
bags. However this method is rather hard to implement in practice. A country like India does not have the required
resources to strictly enforce the ban. Hence this method may not be as viable as the latter. Another method is to recycle
plastic bags however according to recent statistics just five percent of plastic bags return to recycling facilities. The rest end
up on the streets where they become litter. Plastic bags that are under twenty micrometre in thickness have been banned
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since years but the enforcement of the ban is almost negligible. The primary reason these plastic bags got banned was due
to the fact that cows mistake these bags for food and they end up eating it them. Consequently this blocks up their intestines
and results in death. Today the repercussions of plastic were better understood than a decade ago. Hence many countries
have opted to outright ban plastic or at least recycle existing plastic. This act has led to reduced carbon emissions as well as
addressing many other related problems. New discoveries and alternatives to tackle the problem of plastics will pave the
way for a new generation in a much cleaner and greener planet.
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